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do k=1,kk !
do i=1,n ! n=
a(i)= a(l) *x +y
enddo
enddo
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B(J)
do i=1,n do i=1,n-3,4
do j=1,m do j=1,m
a(d.=ag,1)*b(g) E£> a(d.n=ag.1)*bq)

... a(g,it)=a(,i+1)*b(g)
a(j,i+2)=a(j,i+2)*b(g)
a(g,i+3)=a(,i+3)*b(g)

B(J)
do j=1,m
do i=1,n

a(d,=ad,)*b(Q)



2.2.

2.3.

[31

-opt_report

DO I=1,N
DO J=1,M
.= ... *BQJ)

64

N

DO J2=1,M,JB

JB

DO 1=1,N
DO J=J2,min(J2+JB-1,M)
e = ... *BQJ)
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parameter ( n=2048 )
double precision a(n+3,n),b(n+3,n),c(n,n)

( )
do j=1,n
do k=1,n
do i=1,n
a(i,j)=a(i,j)+b(i.k)*c(k.j)
end do
end do

end do



3.1.

3.2.

(i)
AzusA

do j=1,n
do i=1,n
do k=1,n
a(i,j)=a(i,j)+b(i.k)*c(k,j)
end do
end do
end do

ck,j) i
c(k.J)
b(i,k) J J

(SWP)




SWP

SWP (-opt_report) SWP
i 4 J 5
do j=1,n-4,5
do i=1,n-3,4
do k=1,n

a(i,j)=a(i,j)+b(i,k)*c(k,j)
a(i+1,j)=a(i+1,j)+b(i+1,k)*c(k,J)
a(i+2,pP=a(i+2,))+b(+2,k)*c(k,j)
a(i+3,j)=a(i+3,j)+b(i+3,k)*c(k, )

a(i, jt1)=a(i,j+1)+b(i,k)*c(k,j+1)
a(i+l,j+D=a(i+l, j+D)+b(i+1,k)*c(k, j+1)
a(i+2,j+D=a(i+2, j+D+b(i+2,k)*c(k,j+1)
a(i+3,j+1)=a(i+3,j+1)+b(i+3,k)*c(k, j+1)
a(i,j+t2)=a(i,j+2)+b(i,k)*c(k,j+2)
a(i+l,j+2)=a(i+1,j+2)+b(i+1,k)*c(k, j+2)
a(i+2,j+2)=a(i+2, j+2)+b(i+2,k)*c(k,j+2)
a(i+3,j+2)=a(i+3,j+2)+b(i+3,k)*c(k, j+2)
a(i,j+3)=a(i,j+3)+b(i,k)*c(k,j+3)
a(i+l,j+3)=a(i+1,j+3)+b(i+1,k)*c(k, j+3)
a(i+2,j+3)=a(i+2, j+3)+b(i+2,k)*c(k,j+3)
a(i+3,j+3)=a(i+3,j+3)+b(i+3,k)*c(k, j+3)
a(i, jr4)=a(i,j+4)+b(i,k)*c(k,j+4)
a(i+l, j+4)=a(i+1, j+4)+b(i+1,k)*c(k, j+4)
a(i+2,j+d)=a(i+2, j+)+b(i+2,k)*c(k, j+4)
a(i+3,j+4)=a(i+3, j+4)+b(i+3,k)*c(k,j+4)

end do
end do
end do
(n 4,5 )

2/2= 40/9=4 .4
-03



3.3.

b(i,k)

3.4.

bb

b(i,k) j ik
L2
ib=108, kb=108 108*108*8

do is=1,n,ib
do ks=1,n,kb
do j=1,n-4,5
do i=is,min(istib-1,n)-3,4
do k= ks,min(ks+kb-1,n)

end do
end do
end do
end do
end do

ib*kb b
bb

do is=1,n,ib
do ks=1,n,kb
do i=is,min(is+ib-1,n)
do k= ks,min(ks+kb-1,n)
bb(k-ks+1,i-is+1)=b(i,k)
end do
end do
do j=1,n-4,5
do i=is,min(is+ib-1,n)-3,4
do k= ks,min(ks+kb-1,n)
a(i,j)=a(i,j)+bb(k-ks+1,i-is+1)*c(k,j)

end do
end do

=93K<96K



end do

end do

end do

b
I — bb
1 1]2]3

@

3.5.
AzusA

-03

Ifetch

do is=1,n,ib
do ks=1,n,kb
do i=is,min(is+ib-1,n)
do k= ks,min(ks+kb-1,n)
bb(k-ks+1,i-is+1)=b(i,k)
end do
end do
do j=1,n-4,5
do k=ks,min(ks+kb-1,n),8
call Ifetch(c(k,j))
call Ifetch(c(k,j+1))



call Ifetch(c(k,j+2))
call Ifetch(c(k,j+3))
call Ifetch(c(k,j+4))
end do
do i=is,min(is+ib-1,n)-3,4
call Ifetch(a(i+8,]}))
call Ifetch(a(i+8,j+1))
call Ifetch(a(i+8,j+2))
call Ifetch(a(i+8,j+3))
call Ifetch(a(i+8,j+4))
do k= ks,min(ks+kb-1,n)
a(i,j)=a(i,j)+bb(k-ks+1,i-is+1)*c(k,j)

end do
end do
end do
end do
end do

() k 8 L2

64 1

-02
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Ifetch

AzusA
2048*2048 L2 L3
-02

1741IMFLOPS 2
L2

1000MFLOPS



MFLOPS
1 325.5 57
2 497.1 34
3 2 + 76.0 226
4 3+ 33.3 514
5 4 + 11.1 1542
6 5+ 9.8 1741
(-03 ) 17.0 1009
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